
I.D.:	80142718

DIVERSE	PIESE	SCHIMB	UTILAJE

Data
publicarii

20.03.23 Coduri	CPV 34913000-0

Pretul
estimativ:

3.370,27	RON	-	3.370,27	RON 	 	

Descriere: Lampa	semnaliz.sg-dr	2x21.01,	Bec	H4	12v	10x12.605,	Bec	para	20x2.1010,	Bec	bord	24v
10x1.684,	bec	bord	12v	10x1.684,	bec	cireasa	12v	10x3	2020,	bec	soclu	12v	5x1.68,	bara
poliamida	d40	1x92.44,	furtun	evacuare	1x210.08,	solutie	spalat	parbriz	1x21.85,	su
m16x110	50x5.8824,	piul	m16	50x0.8404,	saiba	plata	A16	70x0.4201,	Saiba	GWm16
70x0.4201,	su	M16x60	10.9	20x4.2015,	piul	cu	autoblocare	M16	20x1.2605,	Furtun	pompa
gresat	2x12.605,	cap	gresat	4	bacuri	2x8.4050,	Furtun	hidr	13x2sn	l=1550	2x172.027,
supapa	HiDR.PLT4	DN13	G1/2	MAMA	2X151.26,	SUP	HDR.	PLT4	DN13	G1/2	TATA	2X84.035,	AC
12VX100AH	CYCLON	1X457.98,	SU	TORBANT	+	PIUL	10X40	10X1.6810,	SU	M12x140	10.9
6x5.0417,	piul	m12	6x0.505,	disc	ambr.	SAV.	IMP.	1X176.47,	CILINDRU	AMBR.	SAV	1X100.84,
RULM	551	Z11	URB	1X79.83,	SU	CARDAN	16X2.9413,	PIUL	M12X1.25	16X1.2606,	FURTUN	DN
8	L=1500,	CHEIE	TUBULARA	IMPACT	1X352.94


